

Identities of Munarini and Simons via Gauss Hypergeometric Function

J. López-Bonilla, R. López-Vázquez and S. Vidal-Beltrán

ESIME-Zacatenco, Instituto Politécnico Nacional, Edif. 4, 1er. Piso,
 Col. Lindavista CP 07738, CDMX, México

Abstract: We employ the Gauss hypergeometric function to show the binomial identities of Simons and Munarini.

Key words: Hypergeometric functions • Binomial identities

INTRODUCTION

From [1] we have the following property of the Gauss hypergeometric function [2]:

$${}_2F_1(-n, b-a-n; 1-a-n; 1-z) = \frac{(-1)^n (1-b)_n}{(a)_n} (1-z)^{a+n} {}_2F_1(a, b; b-n; z), \quad (1)$$

where we can use the values $a = -n$, $b = a + 1$ and $z = x + 1$ to deduce the relation:

$${}_2F_1(-n, a+1; 1; -x) = (-1)^n \binom{a}{n} {}_2F_1(-n, a+1; a-n+1; x+1), \quad (2)$$

and for the case $a = n$

$${}_2F_1(-n, n+1; 1; -x) = (-1)^n {}_2F_1(-n, n+1; 1; x+1). \quad (3)$$

In Sec. 2 we show that (2) and (3) imply the binomial identities of Munarini [3, 4] and Simons [5], respectively.

Simons and Munarini Identities: First, we study the quantity:

$$A \equiv \sum_{k=0}^{\infty} q_k, \quad q_k = \binom{n}{k} \binom{a+k}{k} x^k, \quad (4)$$

therefore:

$$\frac{q_{k+1}}{q_k} = \frac{(k-n)(k+a+1)}{k+1} \cdot \frac{(-x)}{k+1},$$

which means that A can be written in terms of the Gauss hypergeometric function [6]:

$$A = {}_2F_1(-n, a+1; 1; -x). \quad (5)$$

On the other hand:

$$B \equiv (-1)^n \binom{a}{n} \sum_{k=0}^{\infty} p_k, \quad p_k = \frac{\binom{a}{n-k} \binom{a+k}{k}}{\binom{a}{n}} (-1)^k (x+1)^k, \quad (6)$$

thus:

$$\frac{p_{k+1}}{p_k} = \frac{(k-n)(k+a+1)}{k+a-n+1} \cdot \frac{x+1}{k+1},$$

hence [6]:

$$B = (-1)^n \binom{a}{n} {}_2F_1(-n, a+1; a-n+1; x+1), \quad (7)$$

then (2), (5) and (7) imply the Munarini's identity [3, 4]:

$$\sum_{k=0}^n \binom{n}{k} \binom{a+k}{k} x^k = \sum_{k=0}^n \binom{a}{n-k} \binom{a+k}{k} (-1)^{n-k} (x+1)^k, \quad (8)$$

and if $a = n$ we obtain the Simons formula [5]:

$$\sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} x^k = \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} (-1)^{n-k} (x+1)^k, \quad (9)$$

which is equivalent to (3).

Munarini generalized (8), in fact:

$$\sum_{k=0}^n \binom{\beta-a+n}{n-k} \binom{\beta+k}{k} (-y)^{n-k} (x+y+1)^k = \sum_{k=0}^n \binom{a}{n-k} \binom{\beta+k}{k} y^{n-k} (x+1)^k, \quad (10)$$

and it is possible to analyze (10) via ${}_2F_1$; for $\beta = \alpha$ and $y = -1$ the identity (10) implies (8).

REFERENCES

1. <http://functions.wolfram.com/HypergeometricFunctions/Hypergeometric2F1/17/02/05/>
2. Temme, N.M., 1996. Special functions: An introduction to the classical functions of Mathematical Physics, Wiley, New York.
3. Munarini, E., 2005. Generalization of a binomial identity of Simons, *Integers*, 5: #A15
4. Boyadzhiev, K.N., 2010. The Euler series transformation and the binomial identities of Ljunggren, Munarini and Simons, *Integers*, 10: 265-271.
5. Simons, S., 2001 A curious identity, *The Math. Gazette*, 85: 296-298.
6. Koepf, W., 1998. Hypergeometric summation: An algorithmic approach to summation and special function identities, Vieweg, Braunschweig / Wiesbaden.